2020117128 EH 2R 2@BRBF - 2K%=

R 2BABR= 28— 1;0(2 EﬁT}; IGE Q if%gﬁﬁgg : 3546‘22'855122 444 18 434 13 ,’ }
=5, K = # 131, ISEBIGRE - 534 1 1
Y5ILyFR 2% EE BAL BF 1:29.7 L—R5y F4fiF : MSS 69 MMM 56 SMM 55 SSS 18 Grant ’
e | PEEY |(EESES 0 3% E A AR B8 BiHE GE, T, B) Rt HTE=L—R& L—T4v7 95R 3IE= #ntﬁ B - BE - AS AN
B F | MBAMME|E £ro120% | & 1400m [4TH RE - E BF -7 2, 3. 4AEBIEN S{TE =i - 0—X - BIERKE 444 E£AY3
22| B & |edEE/AElm  EuT | g F 1230 |6TH=L—XX—XHIF - Rl - KIF (HEL. NFELH, S)EL‘) RIS 3 Fiqh REMRE 29-b~45 - 3B ~4f - f£3F(5~1) +Y 3 FIEf
#® | BoR) IE | 2 B | F1I00BE (B x| B S| L—REYSFHAL - HBEDELYSFHAL DBEHRT HTB=1EERE2EE GB%) 1. 2. SHBOWE
HE/BE BAoX | BERM | 10012854 | # BEFR| # % g0 HiE B4 3ERT 47ERT SERT
2917 M9 7% -8 29 T |EZ00072 [ F/ME0000 [20.10.308 ¥ [EMA [20.10.159 & EMH [20.09.088 & Al [20.08.13 8 & I8l |20.07.29 10 * FI5I
£55: et HEA0.0.00 | £20.0.0.2 | 2 EERBEF 2% | 2mRER 2 | 2@ KB 2% | 2 KB 2% | 2@ KB 2%
7 54.0 089 A40007 [ FX0000 |9  128I2%IOA A5 |5 78 7& 3N s [10 11z 8HIOA s [8  11mE 8&F TA s+ |10 128 TEUIA
HYRTL4—F R Il M=E] 40000 [ F10.000 | 430 -12 BEE 54 ®BQ | 442 +12 BEE 54 ®OO | 430 +2 AR 54 (D@D | 428 -2 (LA 54 430 -2 WiARE 54 @@
(YoRYHsYRTR) R 146 0000 [ F/00.0.0.0 | 1230m & B 1:24:0 41.6 | 1230m & B 1:26:1 41.4 | 1000m 4 # 1:04:4 38.7 | 1000m & B 1:05:1 39.4 | 1000m 4 B 1:04:4 38.8
K5 [£]] 0007 |£0002 2450007 | -9-®---[NSS 40.5 223 (5) | SSS 40.3 323 (5) | MMM 37.2 222 (9) | SMM 37.6 242 (7) | MSS 38.8 144 (4)
BT 0.0.0.2 | #03E0%0:80 | £ 0.0.0.0 [ 1 0003|477 93(2. 1) HESE | - (1.7) BYAAG.0)  kEE [ A-A(2.8) S8 | IAF4E(1.6) EEE
IRTUTLV 2|10 A |EZ0003 [ FM0.00.71 [20.10.30 8 ¥ [EME |20.10.08 10 & [EME |[20.00.248 & [EME |20.09.038 F i3l |20.08.25 7 F 17l
LTYT AR 150,000 | $20002 | 25K 2% | 2mREEF 2% | 2mRET 2% | Lo<Ya 2% | 2mHE 2%
~ /7 54.0 .185 500010 [ F50.000 |6 1288 6&ITA 4 8% 5%& 6A 8 1288 2% 6A M |11 1288 2&12A W |6 878 3% 8A
A|4T=2F7727 R | wiER E7 1346@ | £40.0.0.0 | F£0.0.0.0 | 445 +6 FEfL 54 DD | 439 0 FHEH 54 DDG | 439 +9 3£ 54 @D | 430 +8 #F4h 54 @D | 422 0 fHFK 52 @D
(Kingmambo) EE .090| B 1346@ | B4 0.0.0.2 | F/00.0.0.0 | 1230m 4 B 1:23:7 40.9 | 1400m & F 1:34:6 41.6 | 1230m & B 1:25:5 42.1 [ 1200m & # 1:19:0 40.8 | 1200m % E 1:18:8 40.3
FHgEr b [#]] 0001020002 |2400010| -® -@-®-|NSS 40.5 133 (3) | MSS 38.6-41.4 254 (2) | HSS 41.9 144 (7) | SMM 36.1-39.0 122 (10) | SSS 36.9-40.5 224 (4)
) 1-M" A ZMEE 0.0.0.1 | #0%£02£0i80 | £ 0.0.0.0 [ 1@ 0005 [ 47793(1.8) kES | & L5 40 (0.8) ke | 79927 5E9E FAM 49 3R (3.9) ikSese | ATzAE -F(1.4) pivriv]
NS vF—L 2|12 | ©:::: |EZ0006 | FM0005 201030 ¥ [EME |20.10.16 10 & [EMA |[2009.309 & 20.09.16 9 # [EM@ |[20.09.030 & EH
FoALhLAY ik HEA0.0.0.0 [ F20.0.0.0 | 2 EEREEF 2% | 2mERBF 2% | 2 mARBF 2& 2 mARBF 2% | 2 mARBF 2%
54.0 .192 HH0.0.0.6 | F/X0000 | BUH 128811% 9 1288 4&11A 7 1088 7% 6A 5 |6 1188 5%& TA 7 988 9% 2N K4
O | T—vrivfF— B | KB4 BB 13686 | £40.0.0.0 | F£0.0.00 | 5F /N&E 54 504 +2 /A 54 @O@® | 502 +2 &iHkE 54 @@@ | 500 0 AKX 54 ©O® | 500 -11 #HkE 54 @201
(F52708-) EfE .166| ER 13686 | £50.0.0.0 | F/10.0.0.0 | 1230m ¥ B 1400m 4 B 1:37:0 42.2 | 1400m & B 1:39:2 45.0 | 1400m % B 1:36:8 42.9 [ 1400m % B 1:39:6 47.7
ER%S [%]] 0006 |%0001 24540006 ]| -®-©®-@--[NSS 40.5 SSS 39.9-41.2 133 (6) | MSS 39.4-42.8 432 (7) | MSS 39.2-41.7 253 (7) | HSS 36.7-45.4 532 (8)
HEE—E 0.0.0.4 | 05020580 | £ 0.0.0.0 | $38 0000 RES | AN AN -(2.2) Sk | 7440 (2. 7)  SERkSE | Yy -2 (2.0) wksESE | ETa-F-b5 v (2.4) BREK
EPEDY 32|10 %:::: |EZ0100 |FME01.00 20102212 & EME |20.10,06 E| 20 08 214_F 19l
SvET—L K ISR B 451-451 | 840000 | 20000 | 2 EKkBEF 2% | gehEtER ARRTE #E
= 55.0 .154| 7 55-55 A50.1.0.2 [ F50.000 | 2 0 1% 4N BN 9 958 4% 5A
A|FayLPTR E | E#Z B 1341Q | £40.0.0.0 | F+0.0.0.0 | 451 +9 /N&FE 55 ©RQD | 450 442 INERAR 53 [©©)
(VIA—F v —L) EME . 247| EH 1341 | B4 0.0.0.0 | F/00.0.0.0 | 1400m 4 # 1:34:1 41.3 | 1400m &4  1.35.6 1000m 4 B 1:10:4 41.5
B [%]1] 0.1.0.1 | 20100 [&&01.01 | @ - NSS 38.6-41.3 534 (1) S8 38.5 131 (9)
ATHD 0.1.0.0 | #0512£0i80 | £ 0.0.0.0 | 28 0000 [ 712 »7{(0.4) k%% N YF2-(7.3) P ¥
=R LRY 2 T : |BEZ0.0.00 |FH0.0.00 |20 11.02 T | 20.08.20 F M5
SyWE A AR #EA0.0.00 [ F20.000 | F— k& JRARRE E
Y 54.0 .055 EH0.0.01 | 740000 ERSH 8E8 1%
PELEL LS B | X35 40000 [ F£0000 |436 BAR @HF 4
(NTNHLTza—) EE 116 EH0.0.00 [ F/00.000 |1200m &  1.25.6 1000m & B
[REHH 0.0.0.0 £40.000 |- MM 31.9
AREXF 0.0.0.0 | 305050580 | £30.0.0.0 2
AXHA—RT A 2 [ 11 A 0.0.0.4 ) 20.10.28 9 ¥ MW |[20.10.08 0 & MM [20.09.16 8 E &M |[20.08.26 13 & EH
L5 TY pe% ol 3B 4 0.0.0.0 . 2 R BF 28% 2 mREEF 28k 2 AR BEF 28% 2mAHEE 28%
54.0 .104 AH40.0.0.4 . 10 1288 T&I2A 6 838 4& TA 9  TEEIOEIOAN A4t |7 8% 3& TA
A2 HHA FETH— E | #IE EF 1360© 0 X 427 +1 JE#HM 54 @@ | 426 +3 E#F0 54 423 -1 B 54 OWOQ | 424 EHM 54 ©6©
[CA=-FES) EE . 213| @R 1360© 1 .0.0.0 | 1400m & E 1:36:9 41.9 | 1400m 4 7 1:36:0 42.9 | 1400m 4 B 1:38:1 43.4 | 1400m & B 1:38:0 42.7
7N KB [%]| 0004 | %0002 0.4 ~®- - | SWM 40.1-40.6 122 (9) | MSS 38.6-41.4 232 (6) | MSS 30.2-41.7 142 (9) | HSS 37.5-42.5 154 (6)
B 0.0.0.4 | 205020580 0.0 0000 I4¥vFy5(2.7) MEE | H LY AN(2.2) HAESK | yahd -2 (3.3)  wkESE | 577Y-7(3.8) HESE
AX—F77ha> 29 B 0.0.0.0 0.0.0.0 [ 20.10.21 10 ¥ P9Al | 20.10.08 10 =& FP9Al |20.09.24 11 ¥ P9A] |20.09.09 8 < FP9A] | 20.08.26 10 & P94l
SAF RSt L HEH% 0.0.0.0 | ¥=0.000 | 2 2% | 2 B 2% | BEDFEL % | 2 ES %M | 2 B 28
2 2 55.0 .132 0.0.0.8 | F550.0.0.0 [4 — TEEITHE 4N Ko [5 1188 4% TA 4 g7E 8F AN A4 |5 128 1HBA BA|T 1288 8% 6A
1|7 FE/FRTFAT BEE | BT 0.0.0.0 | FH£0.0.0.0 [450 +4 HisHK 55 @O | 446 +2 HEEHK 55 @O | 444 +2 HUK 55 Q@[ 442 -4 Eisk 54 G| 446 +2 EMEK 54 @D
(Za—A VT35 F) EE 215 EA0.0.0.1 [ F/00.0.0.0 | 1000m 4 # 1:02:4 37.8| 1100m 4 & 1:09:6 38.9 | 1100m 4 #§ 1:09:9 39.9 | 1100m 4 #§ 1:10:0 39.8 | 1100m 4 B 1:10:6 38.8
e [%]] 0008 |£0002 24540008 ]| - -@&-@-|NM 37.7 334 (2) | SMH 37.7 352 (6) | SMM 38.8 443 (6) | MHS 39.8 334 (8) 39.2 255 (2)
A 0.0.0.0 | 205600580 | £ 0000 | 528 0000 7+-% 7 %2(0.7) %k | 7 vhaapeh7(1.8) Z%iB | #F v (. 1) IS | V-7 W79V (0.9) FEEE [ HurT b1 Sk
O—Io7 7> 28 circ o [EZ000T[FME0.00012010308 F EE [20.10.0710 F F93l [20.09.23 9 F Fisl
A=Y i #E40.0.0.0 | F=0.00.1 | 2BEREEF % | 2% XK W | HrdnE HE
54.0 .087 A40.0.0.3 | /50000 |8 1288 2% 3A W |8 1088 1& TA ®|MW |11 1288 1§1OA =H
8|8 A—NTSA FY— = | KB E0.0.0.0 | F10.0.0.0 | 463 +5 Fih 54 ©D® | 458 +6 LA 54 ©O | 452 BRI 54 [0
(FFRT5A bIU—) KM 166 EH0.0.0.1 [ F/00.0.0.0 |1230m & B 1:23:9 41.7|1000m 4 & 1:03:5 38.3 | 1000m 4 #§ 1:04:6 37.6
[ e [#]| 0003 | %0002 40003 | ® -®-@-|MSS 40.5 233 (6) | MMM 37.8 213 (9) | HMM 37.9 124 (5
HEE—E 0.0.0.1 ;Losto%o;so £%0.0.0.0 B 0001 |4y7793(2.0) kES | V29/737 32 (1.6)  FESHeSE | Y3-299@. 1) pisbirt
JY¥oFRJ7:a &2 [ 11 O 0.0.0.3 0002 [20.10.289 ¥ [EMA [20.10.169 & EH [20.09.23 1] & EH
H—7 A H— 4 0.0.0.0 0.0.0.0 | 2mEARMFI 2% | 2mKRBF 2% | 2WAHE 2%
. H40.0.0.3 7%0.0.0.0 |7 1258 5&10A 7 1288 8&10A 8 83 7&H 6A 4t
8|19(0 |[+Lyyrny—¢g -3 # BB 13560 | £40.0.0.0 | F+£0.0.0.0 | 460 -2 UMK 55 @DO® | 462 +2 WWELE 55 @@ | 460 AL 55 ®®
(SR Z & .274| ER 1356@) | 4 0.0.0.0 | F/00.0.0.0 | 1400m # B 1:35:6 41.4| 1400m # £ 1:36:5 42.7| 820m # B 0:54:6 39.8
zpote ] [%]] 0003 [£0002 |£%40003 | -@-@ -®-|SW 40.1-40.6 223 (6) | SSS 39.9-41.2 422 (9) | SSS 37.0 211 (8)
ZEBHR 0.0.0.3 | 0500580 | £ 0.0.0.0 [ 1@ 000 1| 1uFy5(1.4) KEE | AW wan - (1. 7) Sk | T4-T4-1{+(3.8)  SExkE
BIE & — b 1400miE4 B Ak (SEEHARY : 2018. 11.10~2020. 11. 09) BHTE P& 3 HRE
[ EHESR HERSK 1% 2% 3%F &N BE ExE % (#E 1 4 5 6 7 8
1 YIRT4TFR 497 88 59 45 305 0.177 0.296 3 (3#ME) 24 25 24 26 24 25 26 30
2 T—L K7 Ya— 412 67 63 42 240 0.163 036 0 _____
3 o— Hn—u? 319 61 55 36 167 0.191 0.364 17 @ BRI
4 YZRE— - 272 53 30 22 167 0.195 0. 305 i EIFHST (534,544) 5 sk
5 HLIATx 425 52 43 34 296 0.122 0.224 T _____ WFAIE L (434, 445) 3 sonk
6 /40O 438 48 54 49 287 0.110 0.233 & 00O FY  (255,365) 1
1 A vai—5— 499 46 56 48 349 0.092 0.204 B BLVAF (335,245) 1 *
8 yoIx 515 45 39 51 380 0.087 0163  _____
9 AuTI—YL 2N 44 29 34 164 0.162 0.269 * @
10 Frory/FuF 351 83 M 38 229 0.123 0.239 5 DO

. . FREMT I, YEOREHL., HERE. WFEELL, TATERERTOHBEREB/ALTT L,
20205118128 EH R 2@BRBF_28%= 3Ty FR 2K E= 1400m #—+-FH AEHSOMY, BREELET,



